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6 Hereis arecipe for curry.

Curry
For 4 people

400g meat

2 onions

3 carrots
200g sweetcorn
500 ml stock

10g curry powder

(a) Oliver is making this curry for 8 people.

How many carrots should he use?
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6 Hereis arecipe for curry.

Curry
For 4 people

400g meat

2 onions

3 carrots
200g sweetcorn
500 ml stock

10g curry powder

(b) Jen is making this curry for 2 people.

How much curry powder should she use?
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6 Here is arecipe for curry.

Curry
For 4 people

400g meat

2 onions

3 carrots
200g sweetcorn
500ml stock

10g curry powder

(c) Andy is making this curry using 1000 g of meat.

For how many people did he make the curry?
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200g sweetcorn
500 ml stock

10g curry powder

(a) Oliver is making this curry for 8 people.

How many carrots should he use?
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(c) Andy is making this curry using 1000 g of meat.

For how many people did he make the curry?
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Curry
For 4 people

meat
onions
carrots
sweetcorn
stock

curry powder

(b) Jen is making this curry for 2 people.

How much curry powder should she use?
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5 George is going to make biscuits for a party.
He buys:
* two 250g packs of butter at £1.30 per pack
* one 1.5kg bag of flour at £0.80 per bag
» one 5009 bag of sugar at £0.99 per bag.

(a) (i) How much does he spend altogether?

(A)(I) [1]
(ii) He pays with a £10 note.

How much change should he receive?
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5 George is going to make biscuits for a party.

He buys:
* two 2509 packs of butter at £1.30 per pack
* one 1.5kg bag of flour at £0.80 per bag
* one 5009 bag of sugar at £0.99 per bag.

(b) These are the ingredients for making 16 biscuits.

16 Biscuits

100g butter
15049 flour
409 sugar

George makes as many biscuits as he can, with the ingredients he bought.

Show that George can make 80 biscuits. [3]



Created by W Neill
5 George is going to make biscuits for a party.
He buys:
* two 2509 packs of butter at £1.30 per pack
* one 1.5kg bag of flour at £0.80 per bag
» one 5009 bag of sugar at £0.99 per bag.

(a) (i) How much does he spend altogether?

/ 2.60
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(ii) He pays with a £10 note.

How much change should he receive?
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George is going to make biscuits for a party.

He buys: __‘__i_bé—,@ o
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* two 2509 packs of butter at £1.30 per pack

* one 1.5kg bag of flour at £0.80 per bag
* one 5009 bag of sugar at £0.99 per bag\ - -
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(b) These are the ingredients for making 16 biscuits. XS
ol .
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16 Biscuits
100g butter = bAber
1504g flour

409 sugar 7802 ﬂou" il

2 <Sugar
George makes as many biscuits as he can, with the ingredients he bought. Uj '/

Show that George can make 80 biscuits. [3]
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Apple crumble is made using these ingredients.

Video created by W Neill

Apple crumble
Serves 6 people

550g apple

200g sugar
120g flour
30g butter

(@) Susumu makes apple crumble to serve 12 people.

How much flour should he use?



Video created by W Neill

8 Apple crumble is made using these ingredients. Rl
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Apple crumble
Serves 6 people [ PZDPLQ
550g apple
200g sugar z"w’-__‘)
120g flour~ |
30g butter

(@) Susumu makes apple crumble to serve 12 people.

How much flour should he use?
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Apple crumble

Serves 6 people

550g apple

(b) Natalie makes apple crumble for 2 people. 200g sugar
120g flour

How much butter should she use? 30g butter

D) e g[1]

(c) Abena has 1.3kg of apples and plenty of the other ingredients.

Can she make apple crumble for 15 people?
Explain how you got your answer.
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Apple crumble

A Pecp\*& Serves 6 people
550g apple

(b) Natalie makes apple crumble for 2 people. 200g sugar

120g flour
How much butter should she use? 30g butter
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(c) Abena haf apples and plenty of the other ingredients.

Can she make apple crumble for 15 people? . ( 55 03 6 peoplé ) ',()
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11 Arecipe for flapjacks uses only oats, butter and syrup, in the ratio 3: 2 : 1. Created by W Neill

(a) Pirin makes 1.5kg of flapjacks.
He uses 600 g of butter.

Has Pirin followed this recipe?
Show how you decide.

...................................................................................................................................................
---------------------------------------------------------------------------------------------------------------------------------------------------
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(b) Using this recipe, 200g of syrup are needed to make 10 flapjacks.
Find the mass of oats needed to make 15 of these flapjacks.
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(a) Pirin makes 1.5kg of flapjacks.

Q\\SO- He usg 6009 Of butter.

Has Pirin followed this recipe? /& S
Show how you decide. O
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(b) Using this recipe, 200g of syrup are needed to make 10 flapjacks.
R\q_ Find the mass of oats needed to make 15 of these flapjacks.

A 2 & gooj osts = |0

2 g % 8 | SoojmbeQ
b00g 200q - O flpyacks  G00q oebs= |5
N

e
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19 Here is a list of ingredients for making 16 flapjacks. Created by W Neil

Ingredients for 16 flapjacks

120 g butter

140 g brown sugar
250 g oats

2 tablespoons syrup

Jenny wants to make 24 flapjacks.

Work out how much of each of the ingredients she needs.

butter e e e e
S T oS SR (L
ol 0 eaascdncontiiongd g
syrup tablespoons

(Total for Question 19 is 3 marks)
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Ingl edients for 16 ﬂapjacks

120 g butter

140 g brown sugar
250 g oats

2 tablespoons syrup
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Jenny wants to make 24 flapjacks.

Work out how much of each of the ingredients she needs.
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brown sugar .
oats ... ’3 7> ................ g
syrup : >) ... tablespoons

(Total for Question 19 is 3 marks)




17 Here is the list of ingredients for making 30 biscuits. Video created by W Neill

Ingredients for 30 biscuits

225 g butter
110 g caster sugar
275 g plain flour

75 g chocolate chips

Lucas has the following ingredients.

900 g butter
1000 g caster sugar
1000 g plain flour

225 g chocolate chips

What is the greatest number of biscuits Lucas can make?
You must show your working.

(Total for Question 17 is 3 marks)




17 Here is the list of ingredients for making 30 biscuits. Video created by W Neill

QlF

Ingredients for 30 biscuits

225 g butter
110 g caster sugar
275 g plain flour

75 g chocolate chips

Lucas has the following ingredients.

900¢g butter 900 ¥ 22S = f LOE".S OF 30 = (20 hiscul {—5 ¢
1000 g caster sugar {000 = |0 =G .09 lobs GP W & L77 biseAdS
1000 plain flour (000 £ 275 = 363 leks of- 30 = (09 bisculs

7238 chocolate chiPS 225 95 = B bobs £ 30 = 90 hiscults

What is the greatest number of biscuits Lucas can make?
You must show your working.

qOb;gWLy

(Total for Question 17 is 3 marks)




15 Shahid is going to use these instructions to make a fizzy drink. VideaiCreaieaion et

R17

Mix 5 parts of orange juice
with 2 parts of lemonade

Shahid thinks that he has 300 m/ of orange juice and 200 m/ of lemonade.

(a) If Shahid 1s correct, what 1s the greatest amount of fizzy drink he can make?

~ml/

Shahid has 300 m/ of orange juice but he only has 160 m/ of lemonade.

(b) Does this affect the greatest amount of fizzy drink he can make?
Give a reason for your answer.

(1)
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Mix 5 parts of orange juice
with 2 parts of lemonade g L
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Shahid thinks that he has 300 m/ of orange juice and 200 m/ of lemonade.

(a) If Shahid 1s correct, what 1s the greatest amount of fizzy drink he can make?

Shehid hos .. 00mI O ('3"""‘“g YRR

200l Lem \20*"‘[ :?[f:,gﬁ

3)
Shahid has 300 m/ of orange juice but he only has 160 m/ of lemonade.

(b) Does this affect the greatest amount of fizzy drink he can make?
Give a reason for your answer. n i hcr\j p ’-\g 52, f’ !che s 5 5 g

Cl’)c/\jé w”\ be made (% {{zfj drfnﬂ(.
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11 Here is a list of ingredients needed to make 6 pancakes.
Flour 120 grams
Eggs -
Milk 210 millilitres
11 (a) Complete the list of ingredients needed to make 9 pancakes. [3 marks]
R17
Flour
Eggs

Milk
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11 Here is a list of ingredients needed to make 6 pancakes.
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Flour 120 grams
bo4 £
{ éjj Eggs 2

(OSm[ | ik 210 millilitres
11 (@)  Complete the list of ingredients needed to make 9 pancakes. [3 marks]
R17
Flour l go o‘ (_CW\>
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Milk /S(SM\
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11 (b) Convert 210 millilitres to fluid ounces.

Use 1 fluid ounce = 28.4 millilitres

™ . .
Give your answer to 1 decimal place.

il [2 marks]

Answer fluid ounces
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11 (b) Convert 210 millilitres to fluid ounces.
Use 1 fluid ounce = 28.4 millilitres

R26
N26 Give your answer to 1 decimal place.
[2 marks]

X7. 241 /~lovne = £3Leml )« D RGL R
59 > S

F oD T ot

Answer _7 ’ (—% fluid ounces




